
 
NB Tutors Ltd, Unit 79, Capital Business centre, 22 Carlton Road, South Croydon, CR2 0BS  -1- 

Full Name: ………………….. Date: 01 December 2024 

Short Assessment 
Time Allowed: 18 minutes Total Marks: 18   

 
 

1. The battery of e.m.f 24V and negligible internal resistance is connected to three resistors as shown 

in the diagram below. 

 

 
 

 Calculate, 

 

(a) the total resistance in the circuit. 

 (3) 

 

 

 

 

 

 

 ………….. Ω 

 

(b) the current flowing through the 30Ω resistor. 

 (2) 

 

 

 

 

 

 …………… A 

  

(c) the potential difference across the 20Ω resistor. 

 (3) 
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(d) the potential difference across the 12Ω resistor. 

 (3) 

 

 

 

 

 

 

 

 

 

 

(e) the power dissipated in the 8Ω resistor. 

 (3) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

2. The circuit given below shows a battery with negligible internal resistance connected to a light 

dependent resistor (LDR) and a lamp. The lamp has a fixed resistance. 

 

 

(a) State what happens to the resistance of the LDR when the intensity of the light falling on it 

increases. 

 (1) 
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(b) State and explain what happens to the brightness of the lamp when the intensity of the light 

falling on the LDR increases? 

 (3 marks) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
  

 

- End of Test - 
 

 

 

 

 

 

 


